=
(o))
i
5
i
o
Tfr

AN 4 AR OBRBEHE R R

1 REEFHK

(1) %E;ﬁkﬁ%” ...................................................... 86
(2) )ﬂﬁﬂﬁﬁjﬁ%” ................................................... 86
(3) %%é{fﬁ?%” .................................................... 86

85



B0 4 A OBRBEIE RS R

(1) AR

AFEOHE ARARERE
KK 10
KE 5 0
=y 20
=) 5
B 14
Z D, 4
aEt 53
(2) FHhiEm)
WEOKE,  ANEOME | K& | KEGE|  BRE HEEh R Z Dt &&t
3 Hh Ik 3 13 2 6 4 33
ST [ P ¢ i da 3 1 2 6
REE S:01 1 1
i T3 M 0
T2 s 1 1 2
AT LR K 1 2 1 2 6
Z oAt GETAR ) 1 4 5
&t 10 0 20 5 14 4 53
(3) FEAWH]
FAEWR S ANEOFRE KRGBY | KEHE | BEE = R Z DAt &t
(PN 1 4 1 6 1 13
B 5 1 6
R 3 9 3 1 16
P EES 1 2 3
A |Emerae ki 0
b [EmE 4 4
. 178 - /NFEZE 1 1
B B R 0
iﬁ REELE | I
R =RIEES 3 3
=9 -t ik 1 1 2
BE—ERE 0
Y— ¥ 0
FEAEPRAR 1 1 2
ZDih, 1 1 2
&t 10 0 20 5 14 4 53

86




